


Percent profit made by two companies over the years
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If in the year 2004 the expenditure incurred by Company A and B was the same, what was the
respective ratio of the income of Company A and B in that year ?
Ife 99 2004 H FUAT A 3R B gRT fRAT TIT =TT GHIT o7, aF 3T 99 Ut A 3R B i 3 &7
HeTera ST /T AT?
(@) 27 : 28 (b) 14 : 23 (¢) 13 : 19 (d) Can not be determined (e) None of these
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If the amount of profit earned by Company A in the year 2007 was ° 1.5 lakhs, what was its

expenditure in that year ?

Iie T 2007 W hUAT A FRT T T hl AT F 1.5 ARG off, A7 3T a9 IHhT I Teha =T o2
(a) " 1.96 lakhs (b) " 2.64 lakhs (¢) " 1.27 lakhs (d) * 3.75 lakhs (e) None of these
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What is the average percent profit earned by Company B over all the years together ?

Tt 9t 7 foeATent ot B gRT AT 21 afavra o feraar 22

] 1

19— 24—
(a) 197 (b) 24~
(c) 12% (d) 3?% -« Company A
=+ Company B
() None of these 60
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If in the year 2008, the income of both the companies A and B was the same, what was the respective

ratio of expenditure of company A to the expenditure of company B in that year?

i a¥ 2008 W, AT hUTHAT A TR B hl 37T THTT off, a7 3| 99 hu=1 A o =TT kT hUAT B o STIT A
Wﬁﬂaﬂ'ﬂﬁ HITAT? (a) 21 :25(b) 7 : 9 (¢) 13 : 15 (d) Cannot be determined (e) None of these
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What is the respective ratio of the amount of profit earned by Company A and B in the year
2009 ?

9 2009 F HUAT A X B FIT AT AT <hY TIIT T HE T2 STUTA FIT 22
(A)2:3(b)4:7(c)11:15(d) Cannot be determined (e) None of these
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Directions [01 - 05]: Read the given information carefully and answer the related questions
Following bar graph shows the percentage of number of toffees sold by five different
shopsi.e. P, Q, R, S and T on Monday.

Total number of toffees sold on Monday = 5000
P o - 05]: 8 TS THT Y AT TF 9 SR w3 g 3

IR UG U9 eT-3(eRT gHH! A4fd P, Q, R, S 3R T gRT WWAR &t 9t 71§
2 al P} GBI BT YI=Td G=ITaT g
TIHAR P 91 715 eIl $t oA GBI = 5000
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If Shop T is selling only three types of toffees and 36% of the total toffees
sold were orange toffees, 42% of the total toffees sold were mango toffees,
than find how many paan toffees were sold from shop T?

gfe gPM T Pad diF UPR &1 TP 99 8T € SR 901 T par cifbal A |
36% A Il &, df 9t TS Fd cIfbdl & A 42% ATH &1 eIl g, af
<P T ¥ fhadt = eifeal 9=t 152

a) 220 b) 240 c) 210 d) 260 e) 230
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What is the difference between number of toffees sold from shop Q and
that from shop S?

3P Q MR P S | I S SITpal B T2 & i BT 3iaR foha-n 32

a) 450 b) 650 c) 400 d) 600 e) 500
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If number of toffees sold from shop Q and shop V are in ratio 29: 33
respectively, then what is the difference between number of toffees sold
from shop P and shop V?

gfe Q 3R v ¥ 30t 7€ cifthal 91 T HHT: 29:33 & UTd |
g, d@ﬁPﬁ%Vﬁﬁ@Eﬁﬂﬁﬁ@T%ﬁﬂﬁ 3R fram 82

a) 1050 b) 850 c) 750 d) 950 e) 650
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Number of toffees sold from shop R is what percent more/less than
number of toffees sold from shop P?

P R I 390t 1S <IThal B BT ghT= P A S0} 715 eithal ot I | fvaq
ufa=ra siftre/aw 22

a) 6.75% b) 10.25% c) 12.5% d) 14.75% e) 8.25%
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What is the respective ratio between the number of female students from Karnataka to the number
of female students from Kerala ?

HTech o HIGEAT DAL chl TGAT ST HIE W HIGAT DAL shl TGAT  HE T8I ST T 82
@)2:7Mb)2:5()2:3(d)3:7(e) None of these

Percentage of students from different states Percentage of female students from different
attending a national seminar states attending a national seminar
Total Students: 8000 Total Students: 3500
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What is the total number of male students from Maharashtra and Madhya Pradesh together ?
HENTSE AR Hed TS9T § THEATSR J6W BTAT shl Shel HEAT TehaT 82
(a) 2175 (b) 2725 (¢) 2527 (d) 2275 (e) None of these

Percentage of students from different states Percentage of female students from different
attending a national seminar states attending a national seminar
Total Students: 8000 Total Students: 3500
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What is the respective ratio between the number of male students from Assam and the number of
male students from Madhya Pradesh ?

ITET o T6W DAL shl HEAT 3R HLT T o 6U BTAT chl €EAT o sfiel Haifard STTUTd T 87
(a) 197: 134 (b) 197: 135 (¢) 197: 133 (d) 199: 133 (e) None of these

Percentage of students from different states Percentage of female students from different
attending a national seminar states attending a national seminar
Total Students: 8000 Total Students: 3500
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What is the respective ratio between the number of female students from Karnataka and the
number of male students from the same state ?

FHATEH O TIell BT chl HEAT N IH TT 8 T6F BTAT hl HGAT o sl Wi 2ra STTUTd FIT 82
(a) 35: 69 (b) 32: 69 (c) 38: 69 (d) 35: 67 (e) None of these

Percentage of students from different states Percentage of female students from different
attending a national seminar states attending a national seminar
Total Students: 8000 Total Students: 3500
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The number of female students from Assam are approximately what percent of the

male students from the same state ?

ITEW | AT BTAT 6T TEAT IHT ST % 6T BTAT HT HTSRT {oha=1 Tfaore 72
(2) 14 (b) 28 (c) 96 (d) 66 () 46
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